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10.

Instructions for the Candidates

Write your roll number in the space provided on the top of this page.
This paper consists of seventy five multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the paper
seal on the edge of the cover page. Do not accept a
booklet without sticker seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately

by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.
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where (C) is the correct response.

Example :

Your responses to the question of Paper Ill are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the ovals inOMR Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.
Rough Work is to be done in the end of this booklet.
If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.
You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of
OMR Answer Sheet soon after the examination.
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Note : This paper contains seventy-five (75) objective type questions. Each question
carries two (2) marks. All questions are compulsory.

1. Which one of the following is defined in

terms of concentration ratio ?
(A) Duopoly
(B) Monopolistic competition
(C) Monopoly

(D) Oligopoly

2. The greatest good for the greatest

number of the society is social welfare

according to
(A) K.J. Arrow
(B) A.C. Pigou
(C) Bentham

(D) Kaldar

3. Green GDP is associated with
(A) Sustainable Development
(B) Economic growth
(C) Stable growth

(D) Secular growth

K-0315

4. Romar-Lucas model of growth is known

as
(A) Neo-classical growth model
(B) Endogenous growth model
(C) Neo-liberal growth model

(D) Liberal growth model

5. Combined effect of accelerator and

multiplier is known as
(A) Super multiplier effect
(B) Investment multiplier effect
(C) Savings effect

(D) Psychological effect

6. Simultaneous determination of interest

rate and income level is given by
(A) General equilibrium

(B) Savings function

(C) IS-LM framework

(D) Investment multiplier
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7. Difference between value of goods

exported and imported is
(A) BOP

(B) BOT

(C) Trade gap

(D) Trade balance

8. The last round of GATT negotiations was

held at

(A) Cancun

(B) Singapore
(C) Philadelphia

(D) Uruguay

9. Which of the following measure of central
tendency is used in Fisher’s index

number ?

(A) Arithmetic Mean
(B) Harmonic Mean
(C) Median

(D) Geometric Mean

10. Tax ratio is
(A) Ratio of tax revenue to GDP
(B) Ratio of tax revenue to net income
(C) Ratio of tax revenue to total income

(D) Ratio of tax revenue to profit

K-0315
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11. The primary concern of food security is
[) Provide food security to urban poor
[l) To increase food productivity
[Il) To ensure price stability
)

IV) Providing food for the hungry

Select the right codes from the list
given below :

A) |, Iland lll correct

(

(B) land Il correct
(C) lland IV correct
(

D) IV correct

12. Assertion (A) : N—M utility index involves
cardinal measurement of

utility.

Reason (R) : The method of measuring

utility is not the same as
the neo-classical
cardinal measurement of

utility.

Select the correct answer :

(A) Both (A) and (R) are correct but (R)
is not the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) (A) is incorrect but (R) is also
incorrect

(D) (A) is incorrect but (R) is correct
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13. Arrange the following in chronological | 16. Production possibility curve and iso utility

order: curve map are used in
) Koutilya (A) Mellor’s theory of agricultural output
) Plato (B) Schultz’s theory
Il Aristotle (C) Cobb-Web theorem

IV) Xenophan (D) Boserup’s theory

Codes : 17. Integrated Child Development Services
(A) 1L 1 1V, Scheme is sponsored by

(B) IV, 11,1, | (A) State Govt.

(C) LIV, (B) Local Govt.

(D) IV, 111, 11, | (C) Central Govt.

(D) Co-operative
14. Eleventh Five Year Plan is based on

(A) Mahalanobis strategy of growth 18. Theory of exploitation of labour was

ropagated b
(B) Rural development strategy Propas ’

1) Karl Marx
(C) Gender development strategy
2) David Ricardo
(D) Inclusive growth strategy
3) Engles

15. Which one of the following is not related 4) Higgins

i 2
to agriculture under WTQO * Choose the correct code -

(A) Green box (A) 1and 4
(B) Yellow box (B) 2and 3
(C) Blue box (C) 4and 2
(D) Red box (D) 1and 3
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19. Assertion (A): The ability

principle envisages that

to pay

every individual should
pay taxes according to

his ability to pay.

Reason (R): Those who possess

income can contribute to
the Govt. in proportion to
their ability to pay

(A) Both (A) and (R) are not correct

(B) Both (A) and (R) are correct and (R)

is the correct explanation of (A)
(C) (A)is not correct but (R) is correct

(D) (A)iscorrectbut (R) is not the reason

20. Identify ‘time series’ with the appropriate

item from amongst the following
(A) Primary data

(B) Cross section data
(C) Historical data

(D) Secondary data

21. Identity the correct sequence of the

evolution of development measures
A) Ng, PqLl, HDI, GDI
B) PCI, PqgLl, GDI, HDI
C) HDI, GDI, PqLl, PCI

(
(
(
(D) GDI, HDI, PqLl, Ng
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22. Commoditisation of higher education

started since

(A) WTO

(B) GATTs

(C) GATS agreement

(D) Kyoto protocol

23. Modern public economists in case of

taxation believe that there is

(A) Shift of the burden to future

generation

(B) Absence of the impact on the

present
(C) Absence of the impact on future

(D) No shift of the basic burden to future

generation

24. The ratio between the total amount of
derivative deposits and the initial amount

of excess reserves is known as
(A) Cash bills

(B) Deposit multiplier

(C) Credit multiplier

(D) Investment multiplier
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25. Labour Exit Policy commonly denotes
[) Easy entry
[) Easy exit
[Il) Labour market flexibility
)

IV) High wage

Codes :
(A) I, Iland Il are correct
(B) land Il are correct
(C) land Il are not correct
(

D) I and Il are not related

26. Matchthe List—1to List—II.

List—1 List-1I
Criterion Economist

[) National Test 1) A.E. Khan and
Criterion Chenery

[l) Reinvestment 2) Eckstein

Criterion

lll) Social Marginal 3) Leibenstein and
Productivity Galenson

Criterion

IV) Employment  4) Jan Timbergen

Absorption
Codes :

I m
A 4 3 1 2
B) 2 1 4 3
C 3 2 1 4
D) 2 1 3 4

27.

28.

Total Number of Pages : 24

Assertion (A) : Economic integration is
understood both as a
process and as a state of
affairs.

Reason (R) : It is concerned with the

abolition of discrimination
between economic units
belonging to different
states.

Codes :

(A) (A) and (R) are correct but (R) is not
supportive of (A)

(B) (A)is correct but (R) is not correct
(C) (A) is partially correct and (R) is not
correct

(D) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

Arrange the following schools of thought
in chronological order :

[) Neo-liberal

Il) RATEX Analysis
llI) Neo-classical
IV) Modern Thought

Codes :

(A) LIV,
(B) M, 1V, 11,1
(C) IV, LI
(D) IV, 10, 1,1

Paper Il



29.

30.

31.

32.

Paper Il

—_) =)

Jon o= NDEI)JG) & NC)DO@@K)O wNOB

DRATIRTD

(A) So=rie’
(B) mérjp@
(C) merus®

(D) .2.8m0

OLS 5958 530020, 10
(A) RSS 6:952( ﬁ@d@ﬁm@:’o@mﬁd
(B) Aand C 20&R ROFRRYRIRENG
(C) RSS &), samRteeaymend
(D) RSS @52{ ZR0T0 TRPOY,

209, T33O0 m#ﬁw%mﬁ TR 236
3R

(A) & &TWOTY T 08

(B) Tochze0d dggdﬂ@oja Q030g D

(C) Sz =00 a’gdff’écda Q030g D

(D) B STHOD AOX0ZED

FRLUODTTTRT SOTREN %m@o@cj Swnle)

)

oz

(A) BpaEres

b2l

(B) Rom0m0300 23e&3
(C) @binen wowd
(D) BRTBRONT 2208

33.

34.

35.

Total Number of Pages : 24

FIEIF T QOLIT)TO

(A) 2B0T T Fewsm, =),
(B) 2800 BéoB Fewssm, =),
(C) m,3,03008 Fpesd
(D)

IS
D ass—%d%

g,

MC = MR = AR = AC 03n3538 Qe r 5098
RSBREOTBR), SRITTHOTS

(A) 08 =3,

(B) Bons m,=y

(C) RFgs oD HuE
(D)

D —adaojaasoae;jpew

TRODR WTOWD :
ATTOOBNED Clotaopifafes)
(%] Sh-d
) @pJd oo 1) nid Seasr
OTETOR
\_9
ll) BRR BARCHT  2) TR, O
OTETOR
<
) dcdee-mp3e”  3) w@o T
OTETOR
<
IV) mooh e 4) eﬁ%cs@ SIRRE S
OTETOR
<
Bnec
I n m v
A 2 1 4 3
B) 3 4 1 2
(C) 4 3 2 {1
D) 1 2 3 4

K-0315



29. Ability to pay theory of taxation was
developed by

(A) Musgrave
(B) Wagner
(C) Dalton

(D) A.C.Pigou

30. The goal of OLS is to find the values of

the estimated parameters that
(A) Maximise RSS
(B) Maximise both A and C
(C) Minimise RSS

(D) Does not disturb RSS

31. Statutory absolute limit on the amount of

land which on individual may hold is
(A) Ceiling on agricultural land holdings
(B) Control of Royatwari system
(C) Regulation of Mohalwari system

(D) Regulation of agricultural income

32. Which one of the following is the pillar of

Keynesian employment theory ?
(A) Investment multiplier

(B) Effective demand

(C) Consumption function

(D) Liquidity preference theory
K-0315
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33. Cartel is a form of

A) Non-collusive oligopoly

(A)

(B) Collusive oligopoly

(C) Monopolistic competition
(D)

D) Duopoly

34. MC =MR = AR = AC shows the long run
equilibrium of

(A) Monopoly

(B) Oligopoly

(C) Competitive firm

(D)

D) Monopolistic competition

35. Match the following :

Theories Economist
[) Supply Side 1) Gregory Mankiw
Economics

II) New Keynesian 2) Ronald Regan
Economics

ll) Neo-Classical 3) Adam Smith

Economics

IV) Classical 4) Alfred Marshall
Economics

Codes :
I nm v

A 2 1 4 3

B) 3 4 1 2

C 4 3 2 1

D) 1 2 3 4
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36. Which one of the following is not
emphasised in Fei and Ranis model ?
(A) Labour utilisation ratio
(B)
(C) Non-redundancy ratio
(D) Trade GDP ratio

Endowment ratio

37. Which one of the following is not
associated with downward circular
cumulative causation ?

(A) High income and high savings
(B) Poor income and low savings
(C) High income and high investment
(D) Poor savings and low income

38. Second Green
characterised by

Revolution is

[) Organic farming

I) Extensive farming

[Il) Sustainable agriculture
IV) Taxing agricultural income

Find the correct combination
(A) land IV

(B) landlll

(C) Mand IV

(D) IVand|

39. Which one of the following is appropriate
in the current scenario in India ?

(A) Industry lead growth

(B) Agriculture lead growth
(C) Import lead growth
(

D) Service lead growth

K-0315

Total Number of Pages : 24

40. Assertion (A) : VAT is more equitable
than MODVAT.

Reason (R): VAT enables the
deduction of the entire
value of the inputs.

Codes :

(A) (A) is correct but not (R)

(B) (A)and (R) are correctand (R) is the
correct reason

(C) (A) and (R) are not true

(D) (A)iscorrectand (R) is not the correct
reason

41. Population density in India according to
2011 census

(A
(B
(C
(D

382 persons per sq. kilometer
400 persons per sq. kilometer
450 persons per sq. kilometer

~— N N

350 persons per sqg. kilometer

42. Sargent Florence’s theory of industrial
location examines the relationship

between

(A) Population and Economic
Development

(B) Government policy and

industrialisation
(C) Transportation and wage

(D) Distribution of population and
distribution of industries

43. Gross fiscal deficit during2011—12 in India
stood at

(A) 8.2% of GDP
(C) 6 % of GDP

(B) 5.1 % of GDP
(D) 6.8 % of GDP
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44. Uncertainty about reaction of competitors
can be explored through an approach
called

(A) Prisoner’s dilemma
B) General equilibrium

D

(B)
(C) Production function
(D) Games model

45. During which plan period M.G. NAREGA
was introduced ?

(A) Tenth plan
(C) Eleventh plan

(B) Eight plan
(D) Twelth plan

46. Forthe variables X and Y, we obtain two

regression equations Xon Y and Y on X.
At the point intersection of two regression
lines, we get

(A) Standard Deviation

(B) X and y

(C) Only X

(D) Skewness

47. Which of the following are not associated
with new Industrial policy ?

[) Delicensing
1)
[Ill) Deregulation
V)

Expansion of public sector

Nationalisation

Select the code from the following :

(A) IVandll

(B) IVandl

(C) IV, landlll

(D) Ilandlll
K-0315

Total Number of Pages : 24

48. A Giffin good

(A) Obeys the law of demand
(B) Violates the law of demand
(C) Obeys the law of market
(D) Superior good

49. Present economic growth in India is
branded as ‘Jobless growth’. The
appropriate reasons are

[) Use of capital intensive technology
[) Job loss during transition period
[ll) Increase in labour productivity
IV) Climate changes

Select the correct code :
(A) Lllandlll (B) lland IV
(C) IVandl (D) land IV

50. Match the following :

Theories Economist
[) Risk theory 1. F.H. Knight
of profit
[) Innovative 2. H.B. Hawley
theory of profit
[I) Dynamic 3. J.A. Schumpeter
theory of profit
IV) Uncertainty 4. J.B. Clark
theory of profit
Codes :
I nm 1
A 1 4 3 2
B 2 4 3 1
C 2 3 4 1
Dby 1 4 2 3
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51.

List—1
[) Standard
Deviation
[) Regression

) Geometric

Mean

IV) Co-efficient

of correlation

Codes :

(N | I |
A 2 4 1
B) 4 2 3
C) 1 2 3
D) 3 4 2

52. The formula to findout Karl Pearson’s

List -1l
1) Average

2) Dispersion
3) Association
among

variables

4) Cause and
effect

relationship

v

Co-efficient of skewness is

Mean
o

(A)

(B) Mean — Mode

()

Mode
(6]

(C)

o

(D) Mean—Mode

K-0315
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53. A reduced form of equation expresses

(A) An endogenous variable as a

function of exogenous variable

(B) An exogenous variable as a

function of endogenous variable

(C) An exogenous variable as a
function of both endogenous and

exogenous variables

(D) All the above

54. For a stationary auto regressive process

shocks with

(A) Persist indefinitely
(B) Grow exponentially
(C) Never occur

(D) Eventually die away

55. Decline in marginal utility of money is

assumed in
(A) Friedman-Savage hypothesis
(B) Permanent income hypothesis
(C) Life cycle hypothesis
(D) N —M Index
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56. Match the following :
List-1 List -1l
) E.U. 1) Latin American
Countries

) SAARC  2) European Countries

) ASEAN 3) South Asian
Countries

IV) LAFTA 4) South East Asian
Countries

N N W oW
O VR N N
AW N =

57. Current per capita income in India at
factor cost stands at

(A) % 50,800/-
(B) % 55,000/-
(C) 268,747/
(D) % 60,700/-

58. Club goods are those which are
intermediate between

(A) Necessary and Luxury goods

(B) Pure public and private goods
(C) Government and private goods
(D) Community and private goods

59. Which Article of the Constitution of India
provides for a Contingency Fund ?

(A) Article 280  (B) Article 266
(C) Article 290 (D) Article 267

K-0315 (21)
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MSMED Act was introduced in the year
(A) 2006 (B) 2010
(C) 2004 (D) 2011

Chairman of the 13" Finance Commission
(A) C. Rangarajan

(B) S.S. Raghavan

(C) Vijay Kelkar

(D) D. Subbarao

A major objective of the National

Manufacturing Policy, 2011 is to increase
the share of manufacturing in GDP to

(A) 20% (B) 40%
(C) 21% (D) 25%
Gll denotes

(A) Gender Inequality Index
(B) Goods Inequality Index
(C) Good Inequality Index
(

D) General Inequality Index

According to 2011 census in India for
1000 males, how many female ratio ?

(A) 900 (B) 914

(C) 780 (D) 940

The fund set aside by the Government
out of budget to pay for Public debt is
(A) Sinking Fund

(B) Budget Fund

(C) Surplus Fund

(D) Emergency Fund
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Assertion (A) : Market mechanism in a
developing country like
India necessarily brings
high employment and
social justice.

The role of state is not

only to secure there

objectives.

(A) Both (A) and (R) are true and (R) is
the correct explanation

(B) (A) is not true but (R) is partially true

(C) (A) is true but (R) not the correct
reason

(D) Both (A) and (R) are not true

Reason (R) :

Voluntary Disclosure Scheme is an out
let to

(A) White money
(C) Black money

(B) Savings
(D) Investment

An example of direct method to improve
BOP is

(A) Import restriction

(B) Increase in money supply
(C) Increase in money circulation
(D) Increase in investment

‘Knowledge gap’ and ‘ldea gap’ are
found in

(A) Neo-classical model

(B) Romar-Lucas model

(C) Liberal model

(D) Classical model

Goiporia Committee  Report
Commercial Banks is related to

(A) Customer Service Reforms

(B) Risk Management Reforms

(C) Credit Management Reforms
(D) Portfolio Management Reforms

on

71.

72.
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Non-Tariff Barriers donot involve
(A) Human rights
(B) Labour standards
(C) Exchange rate
(D)

D) Environmental standards

The first ministerial meeting of WTO was
held at

(A) Singapore
(B)
(C)
(D)

Seatle
Cancan

Geneva

Life Table is also known as
(A) Human Quality Table
(B) Longevity Table

(C) Mortality/Actuarial Table
(D)

D) Human Development Table

Edwin Cannon’s Optimum Theory of
Population balances

(A) Population and Income
(B) Population and Resources

(C) Population growth rate and GDP
growth

(D) Savings and population

Kyoto Protocol (1997) is related to
A) Climate change

B) Population control

A~ A~ o~ o~

)
C) Universal literacy
)

D) International peace

@)
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